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1. The switch in the circuit of Fig. 1 has been ¢
(25%)

losed for a long time. 1t is opened at t = 0. Find v(t) for ¢ > 0.

2. Find the complete response i(f) for ¢ > 0 in tl
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he circuit of Fig, 2. (25%)
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3. Inthecircuitof Fig. 3, let £y =R, =1Q,C;=02F and C;=0.1 F. (25%)
(@) Find Hjo )=V, (o) Vi{iw)
(b) Find the frequency response. (i.c., plot the magnitude and phase of H{jw ) versus w , respectively.)
v — _ _“l___.._
R, Ry
0*’\/\/\/\/“‘[—'\/\/\/\/—‘ ‘—‘*EW__ o
+ 4[ 3 s
v Ga= o beeed )
o ! 5
Fig. 3
4. Find the complete response v,(f) for ¢ > 0, in the circuit of Fig. 4 1 v (6) = 10u(i) V and vi(0) = -5 V. (25%)
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